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Note :  First 15 minutes are allotted for iz candidates to read the question paper.
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Instructions.: ‘ - o
w.
i) All questions are compulsoryﬁ

if) Illustrate your answers with labelled diagrams, wherever necessary.

jif) Marks allotted to each question are mentioned against it,
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1. ‘Choose the correct option and write in yog}* ans_.wer-book :
a) Thé cndﬁospférrkx.;'_.of_angiozspermi-c plant is |
j) Haploid  j) Diploid i) Triploid iv) Tetraploid
_b)- Iﬁ Mléndel'_é monoh-ybridl croés, the phendtypic ratio of long .and d{varf Iplar.
o pea is | | ) o .
| .i} l3\:1 - ii) .1;3‘- , .Iii_i).1:2':_l i) 1:1I:2_.
c) Thc name of pathogcﬁ of t}:phoid is | ._ |
) . Aéca{is .' 'I | ii); Salmﬁneﬂa iii) Plasrﬁocﬁﬁfn iv) Afﬁoeba-
d) --which one of the follojfing qh_afacfer's does _no;c bélﬁng o lxeroph”ytic plant ?
1), Thi@:k cuﬂcle on leaf sﬁrfaée.l :
ii) _Stomata are arranged in deep groove.
iii} Stem .start-s. to ﬁerform fhc function of leaves

- 1v). Stomata are found equal in number on both surfaces of leaves _

- (R ey Il
{ Very Short Answer Type Questions )

@)Wﬁmﬁlﬂﬂ(ﬁrw)aﬂtmﬁm.
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. -a) Write two causes of biodiversity loss.

b) Write the number of chromosomes in trisomic and monosomic conditions in

human. 1

c). Write the name of the bacteria that-converts milk into curd.

d] Who is the father of Green Revolution in India ?

¢) What type of nuclcus is found in bactena] cell 9 _

C
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( Short Answer Type Questzons B .' . . _
' 2
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Name o :
3. a) e R (i) which cut ﬂ-g)DNA at specific site and (i) which joins two
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C) | What i - I
s ;
| parthenocarpic fruit ? Give one example.’

c.i) | W_hét is transﬁriﬁtion ?
52 © Write the :;ame of any one scxl,@’_ljy ransmitted disease and describ® jts conl
in Erje'f, . 1-
( gt 51 }
( Short AnsWer Type Questmnﬂ -11')
4. %) W@mﬁmﬂﬂmﬁmﬁml 1%+
a) Wwﬂmw.mﬁ ?H&hﬁm—ﬁrﬁq |
=TJ a‘iﬁrwé?ﬁmﬁaﬁwﬁmﬂﬂmﬁmr | 1+
g) 'rﬁt&w%fﬁmmmﬁvﬁaﬂh@ﬁﬁ rﬁﬁqﬁmwsﬁﬁmﬁﬁm 2+
4. g Write short notes 011 Lichen an&f~My60ﬁhiza. T | | | 1% + 13
u mean by bee-keeping ! ? Explarﬁ in bncf
R

d ? Describe the structure of any one seed.

¢) _What is sec
d) Describe the principle of immunization in brief. Also add a note ofl passiv¢
immunizatfon. _ | | | | | 2+1
5. ) Wwé?sﬁﬁwaaﬁmwwm:- .' 1+2
a)mﬁaaﬁmmﬁmmﬁawwﬁﬁaﬁwa@ﬁm: 3
i | 5
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a) What is endosperm ? Describe the process of development apgq ;
tion.

C.

Q) : "+ 2
b) Hydrophytes are adapted to their environment. Explain it with ty )
examples and diagrams. (OO .
. | | v nph " | \
c) -Comment upon human insulin.
d) Whatis 'restric;tion endonuclease ? Give any two eécarhples. o D B

%) Hea & e fam 1 qo AR

Q) ﬁm-ﬁ@ﬁﬁiaq{éﬁnﬁmﬁ%ﬁg@; _- - _- - -.'1¥/LQ+1%
() s e e 1 i R '
o
(i) Wl __

n)- %ﬁﬁﬁﬁﬂwﬁw%?mqﬁﬁ'mm{qﬁmi | 1+2 

) e vawE 2 ?ﬁﬁndﬁéﬁ@smﬂmﬁ;ﬁﬁaﬁa&@ﬁm 140
6. a) Describe Mendel's Law of Déﬁ)inénce. | | 3
b) Write short notes on any of two of the following : ' : 1% + 14
(i} Central dogrha of moleculg:biology
(iiy Parasitism |

(ii1) fxpomi;ds.

c

What are the fermented beveraﬁ'é;; ? Describe th i -
9 . gy e em with examples, :
_ +
d) Wwhat are the cloning vectors %Bﬂeﬂy explain the chara(;t 2
\Cteristi _
Jectors. 4.:' _ SRUHCS of cloning
0026 - L
@

[ Turp over



6
(ﬁaa'ﬁrﬂum)
{ Long Answer 'l‘ype Questions )
7. fm- Wwﬁ%{% mwm% ?@W@Wﬁmﬂml s
:HﬁEg} |
?ﬂﬁﬂ‘iﬁﬁnviﬂgngiﬂﬁﬁ”#ﬁ'qﬁnﬁrqtfﬁaﬁxf%ﬁtnz|-

| an ,
7. What do you understand by sex-linked mhcntancc ? Explain it _mth Y o

3
example. . - -
OR
Write an essay on the role of micrﬂ.—org'anif-sms in human welfar@. . 5
8. 2reru % avefeah whrplaaa fafy 1w Eﬁ?@;iﬁﬁ?ﬂ{ I | . ;
e
- e fevee @ o e @ ey fafem - . 5

8. Describe the semi-conservative method of DNA replication with suitable diagrams,

<

Write an essay on populatlon explosmn and its control ' o |

9. mmﬁ%mﬁéﬁmﬁm| | | - :
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n ? Describe the various ad
By
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you mean by adaptatio

sms with suitable examples.

ﬁ
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aptations found in living
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